B2 5 (B4R BER)

[72& 5 L7 | RGN —F (ZXRBERBIR)

wikEs| 188 s | ke | DEs I E eI
A | Y E FH | 3,500,000 4
1 7 gy | HERI45 4T (% 55  4F)
B | 2578 nof i WEoEs WEOT AR
111.36 Ris REREE L] BIAJETRT L[] praEal
W0 | O e | 2 mEsoeR s 5D DHHE L NEHEH
W - 29.81 o ) grma-r | L Zzofh L] Rig7e ey L] o
o 2 o U zofm ( ) |0 BitEss T ( )
i JeE =30 meE L pigmr %
= e D s Y Mmm(e4 )= A ¥ kom s
527 ] g ZOM( )
Lmp Oapr OmEE L gk L
g MEE(2 )= Lk ) A O ko O we
(] _Tu% [ 20Aih( )
H - HA | M Tase AR [ Zoofi R~ 7L )
{8 AR E - -
I® — o e [O = AT 3 B )
i | ¥ Tkd (@ ke Dmaks  Dzo )
BR 1.8 km | W [ FkcE|L) Ao W o L 2o )
g 017 km| " Toke U mE0 [ Bd VA 1 B &
L 0.28 km M T T VT | A (BT [T
G (T 0.29 km 72 A [ 4 Z0ft
W[ 1ok 0.75 km| [iH]
i [ 6 km T = w
DY s 0.45 km ‘ H Tl T .
v R 1.3 km , N
BT << r— _ w T %< .
R— b — 8 km - e [*”L
o= 0.55 km (ol o T
[H:24]
===
: SR =
. ;ﬁiﬁ‘lﬁd“ﬁijﬂgm
: . b
= A HRITAE4H 25 H B e R ARG A 2 A
% gk H A FITE6 13 H % 8 A A Fn94E6 J] 12 H
RGBT H O smiopor [ saskny [0 zofl ( )

AR Y ME N OB R R DM E DD LT B, Rt FEA~GERL TFSU,




